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ﬁg TREFOBBOEILADKES TERZEOHBEEILIOKRES TREFOBBOEILADKES TREFDHBHILHOKRES
&S X 4 B | Fimh o0 iRE ADKES R 4 TimMoDKE| Z& ADKES X % B | Ao ottE ADKES X % HiEhoolks | B ADKES
(m) (m) (kN/m) EEBfE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
] 100kN/mM%E#BZ % -l -~ = -|3m&EBAB| - ~ = = —| 100kN/mM%H{EZ 5 = -~ = ~-|3m%EBZ 5 = ~ = = =
Lot 1.0010.00 ~ 477 59.47| #hLlst | 000 ~ 477 1.75 9.35 2% 1.00] 500 ~ 5.00 5947 =nlst | 500 ~ 500| 1.75 9.35
2 100kN/mM%E#BZ % -l -~ = —-|3mEBAB| - ~ = = —| 100kN/m%#B% % = -~ = -|3m%EEZS ol ~ = = =
Lot 1.0010.00 ~ 538 67.09] #nl4t | 000 ~ 538| 1.88 10.04 2% 1.00] 500 ~ 6.10 67.09] =h st | 500 ~ 6.10] 1.88 10.04
3 100kN/mM%E#BZ 5 -l -~ = —-|3mEBAB| - ~ = = —| 100kN/m%#BZ 5 = -~ = -|3m%EEZS ol ~ = = =
Lot 1.00]0.00 ~ 545 67.96] Zn L4t | 000 ~ 545 1.92 10.30 2% 1.00] 500 ~ 6.40 67.96| =nlst | 500 ~ 6.40| 1.92 10.30
] 100kN/mM%E#BZ % -l -~ = —|3mEBAB| - ~ = = —| 100kN/m%#BZ % = -~ = -|3m%EEZS ol ~ = = =
Lot 1.00]0.00 ~ 434 5422 #hLlst | 000 ~ 434 1.97 10.57 2% 1.00] 500 ~ 5.00 5422 =nlst | 500 ~ 500| 1.97 10.57
- 100kN/MZ#B 25 1.00{ 000 ~ 275 143.38(3m%xBZ25| - ~ = = —| 100kN/Mi%# 2% 1.00| 10.60 ~ 25.14 143.38|3m%E#BZ 5 =~ = = =
Lot 1.00]1 2.75 ~ 10.53 100.00f #HLl5t | 0.00 ~ 10.53| 297 15.90 2% 1.00] 5.00 ~ 10.60 100.00| £ uist | 500 ~ 25.14| 2.97 15.90
: 100kN/MZ#B 25 1.00{0.00 ~ 187 128.85(3m%x825| - ~ = = —| 100kN/Mi%# 2% 1.00| 1054 ~ 17.53 128.85|3m%#Z % =~ = = =
Lot 1.00]1 1.87 ~ 9.66 100.00f #HList | 000 ~ 9.66] 235 12.57 2% 1.00] 5.00 ~ 10.54 100.00| £ uist | 500 ~ 1753 2.35 12.57
; 100kN/mM%E#BZ % -l -~ = —|3mEBAB| - ~ = = —| 100kN/m%#BZ % = -~ = -|3m%EBZS ol ~ = = =
Lot 1.0010.00 ~ 7.32 93.32| #n st | 000 ~ 0.00| 1.67 8.92 2% 1.00] 500 ~ 9.70 93.32| #=nlst | 500 ~ 9.70| 1.67 8.92
100kN/mM%E#BZ % ~ IMEBRD ~ 100kN/m%E# 23 ~ ImEREZD ~
Zh s ~ Zh s ~ Lt ~ LSt ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LSt ~ LSt ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LS ~ LSt ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LSt ~ LS ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LSt ~ LS ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LSt ~ LS ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LSt ~ LS ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Znst ~ Znst ~ ZhLlst ~ ZhLlst ~
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